

2019 Washington Street, East Charleston, WV 25305 Telephone: 304-558-2306 General Fax: 304-558-6026

Bid Fax: 304-558-3970

The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.





State of West Virginia **Solicitation Response**

Proc Folder: 1555418 **Solicitation Description: BODY BAGS**

Proc Type: Central Master Agreement

Solicitation Closes Solicitation Response Version 2025-02-04 13:30 SR 0506 ESR02042500000004758 1

VENDOR

000000219494

EXTRA PACKAGING LLC

Solicitation Number: CRFQ 0506 CME2500000003

Total Bid: 291352 **Response Date:** Response Time: 2025-02-04 10:54:31

Comments:

FOR INFORMATION CONTACT THE BUYER

Crystal G Hustead (304) 558-2402 crystal.g.hustead@wv.gov

Vendor

FEIN# DATE Signature X

All offers subject to all terms and conditions contained in this solicitation

FORM ID: WV-PRC-SR-001 2020/05 Date Printed: Feb 4, 2025 Page: 1

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Medical Body Bag-PrenatalYR1	200.00000	EA	2.400000	480.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments: SKU: T0-P-50CF-8M-NOHDL-MX

WHITE 8 MIL WOVEN SCRIM REINFORCED PE; PREEMIE INFANT SIZE 12X18"; SEMI-PERIMETER ZIP W/

NO HANDLES; CHLORINE FREE/CREMATABLE; Toe tags not included

Extended Description:Prenatal Body Bags Year 1

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Medical Body Bag-InfantYR1	200.00000	EA	4.760000	952.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments: SKU: T1-E-50CF-8M-NOHDL-MX

WHITE 8 MIL WOVEN SCRIM REINFORCED PE; INFANT SIZE 22X30";

ENVELOPE ZIP W/ NO HANDLES; CHLORINE FREE/CREMATABLE; INCLUDES BBID-KIT-T;

Extended Description:

Infant Body Bags Year 1

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Medical Body Bag-ChildYR1	500.00000) EA	9.560000	4780.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments: SKU: T3-E-50CF-12M-NOHDL-MX

WHITE 12 MIL WOVEN SCRIM REINFORCED PE; CHILD SIZE 36X60"; ENVELOPE ZIP W/ NO HANDLES; CHLORINE FREE/CREMATABLE; INCLUDES BBID-KIT-T

Extended Description:

Child Body Bag Year 1

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Medical body bag-Adult LargeYR1	3500.00	00 EA	12.400000	43400.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments: SKU: T6-E-50CF-12M-NOHDL-MX

WHITE 12 MIL WOVEN SCRIM REINFORCED PE; ADULT SIZE 36X94"; ENVELOPE ZIP W/ NO HANDLES; CHLORINE FREE/CREMATABLE; INCLUDES BBID-KIT-T

Extended Description:

Adult Large Body Bag Year 1

Date Printed: Feb 4, 2025 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

Line Co	omm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5 Me	edical body bag-Adult X-LargeYR1	500.00000	EA	39.960000	19980.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments: SKU: T7-E-50CF-12M-CFX08-US

WHITE 12 MIL WOVEN SCRIM REINFORCED PE;

ADULT SIZE 48X98"; ENVELOPE ZIP W/ 8 STRAP HANDLES; CHLORINE FREE/CREMATABLE; INCLUDES BBID-KIT-T

Extended Description:

Adult XL Body Bag Year 1

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Medical Body Bag-PrenatalYR2	200.000	000 EA	2.560000	512.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

Extended Description:

Prenatal Body Bags Year 2

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	Medical body bag-InfantYR2	200.00000	EA	4.910000	982.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

Extended Description:

Infant Body Bags Year 2

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	Medical body bag-ChildYR2	500.00000	EA	9.850000	4925.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

Extended Description:

Child Body Bag Year 2

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	Medical body bag-Adult LargeYR2	3500.000	0 EA	12.780000	44730.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

 Date Printed:
 Feb 4, 2025
 Page: 3
 FORM ID: WV-PRC-SR-001 2020/05

Extended Description:

Adult Large Body Bag Year 2

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	Medical body bag-Adult X-LargeYR2	500.000	000 EA	41.160000	20580.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

Extended Description:

Adult XL Body Bag Year 2

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	Medical Body Bag-PrenatalYR3	200.000	00 EA	2.560000	512.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

Extended Description:

Prenatal Body Bags Year 3

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	Medical body bag-InfantYR3	200.0000	0 EA	5.060000	1012.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

Extended Description:

Infant Body Bags Year 3

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	Medical body bag-ChildYR3	500.000	000 EA	10.150000	5075.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

Extended Description:

Child Body Bag Year 3

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
14	Medical body bag-Adult LargeYR3	3500.00	000 EA	13.170000	46095.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

 Date Printed:
 Feb 4, 2025
 Page: 4
 FORM ID: WV-PRC-SR-001 2020/05

Extended Description:

Adult Large Body Bag Year 3

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
15	Medical body bag-Adult X-LargeYR3	500.0000) EA	42.400000	21200.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

Extended Description:

Adult XL Body Bag Year 3

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
16	Medical Body Bag-PrenatalYR4	200.000	000 EA	2.640000	528.00

omm Code	Manufacturer	Specification	Model #	
2261602				
.201002				

Commodity Line Comments:

Extended Description:

Prenatal Body Bags Year 4

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
17	Medical body bag-InfantYR4	200.00000	EA	5.220000	1044.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

Extended Description:

Infant Body Bags Year 4

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
18	Medical body bag-ChildYR4	500.000	000 EA	10.460000	5230.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

Extended Description:

Child Body Bag Year 4

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
19	Medical Body Bag - Adult LargeYR4	3500.000	0 EA	13.570000	47495.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

 Date Printed:
 Feb 4, 2025
 FORM ID: WV-PRC-SR-001 2020/05

Extended Description:

Adult Large Body Bag Year 4

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
20	Medical body bag-Adult X-LargeYR4	500.000	000 EA	43.680000	21840.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Commodity Line Comments:

Extended Description:

Adult XL Body Bag Year 4

 Date Printed:
 Feb 4, 2025
 Page: 6
 FORM ID: WV-PRC-SR-001 2020/05